
1. 

AB = 11.7 m. 

BC = 28.3 m. 

Angle ABC = 67
0
.

(a) Calculate the area of the triangle ABC.

Give your answer correct to 3 significant figures.

…………………………. m2

(2) 

(b) Calculate the length of AC.

Give your answer correct to 3 significant figures.

…………………………. m 

(3) 

(Total 5 marks) 

Diagram 
accurately drawn

NOT

67°

11.7 m

28.3 m

A

B C
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2. 

In triangle ABC, 

AC = 7 cm, 

BC =  10 cm, 

angle ACB = 73°. 

Calculate the length of AB. 

Give your answer correct to 3 significant figures. 

……………………. cm 

(Total 4 marks) 

A B

C

7 cm
10 cm

73°

Diagram 
accurately drawn

NOT
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3. 

ABC is a triangle. 

AB = 8 cm 

BC = 14 cm 

Angle ABC = 106  

Calculate the area of the triangle. 

Give your answer correct to 3 significant figures. 

………………..cm2

(Total 3 marks) 


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4. 

Diagram NOT  accurately drawn 

The lengths of the sides of a triangle are 4.2 cm, 5.3 cm and 7.6 cm. 

(a) Calculate the size of the largest angle of the triangle.

Give your answer correct to 1 decimal place.

....................................° 

(3) 

(b) Calculate the area of the triangle.

Give your answer correct to 3 significant figures.

............................... cm2

(3) 

(Total 6 marks) 
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5. 

Diagram NOT accurately drawn 

In triangle ABC, 

AC = 8 cm, 

BC =15 cm, 

Angle ACB = 70°. 

(a) Calculate the length of AB.

Give your answer correct to 3 significant figures.

................................ cm 

(3) 

(b) Calculate the size of angle BAC.

Give your answer correct to 1 decimal place.

...................................° 

(2) 

(Total 5 marks) 

B

A

C

8 cm

15 cm

70º

For more help, please visit our website www.exampaperspractice.co.uk



6. 

Diagram NOT accurately drawn 

ABC is a triangle. 

AB = 12 m. 

AC = 10 m. 

BC = 15 m. 

Calculate the size of angle BAC. 

Give your answer correct to one decimal place. 

................................° 

(Total 3 marks) 

A

 C 

B

10 m
12 m

15 m
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7. 

AB = 3.2 cm 

BC = 8.4 cm 

The area of triangle ABC is 10 cm2.

Calculate the perimeter of triangle ABC. 

Give your answer correct to three significant figures. 

..................... cm 

(Total 6 marks) 

3.2 cm

A

B C
8.4 cm

Diagram 
accurately drawn

NOT
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